b AT=2057 Pa=7) [4F7=2ks] [HkFEI FA]

Ly FR—V HIH 201641 17H ()
FEfE] : 9: 00~13: 00
“ 10p JEfle H—7 2p Z&fX B EFRAAET = — |
@ @ ® @ ® ® @ A
b Ak ZUE Z3B ZTHN ZUE
‘ ez 1-2
At BA | BB | ITE BT | B K 34
b AL 1-3
O et ma 4-10 | 4-10 | 4-10 4 9-4
2-3
L%
® NG 10-4 8-10 10-7 9 1-4
o | wmee | 10-4 | 10-8 10-4 1
Ll
@ | B I& 10-4 7-10 4-10 3
®
®
@




hIhAT=2057 (Paz=T) [4FF=2k2] [FAIFHEEIZ T AA]
0 WA 20164 1H 1780 (A)
BEE 9 : 00~13 : 00

2 > A wAENET = —
H 47— L5 —T R ZZ i EFRAEAET =Aa— b

0 ® ® @ ® ® @ A E
H &b nx Ao LN A N LowL HnE e WY . 1_2
A EY | TE RE | BT RE | AN G R 5t
bemb D& 1-3
O i mw 3-4 2-4 4-0 3 2-4
2-3
FESIN SO NV -
@ TH & 4-3 8-4 4-2 2 1-4
LWL HWnE
o | BE mE 4-2 4-3 3-4 1
@ 7|<ﬁ G 0'4 2'4 4'3 4
®
®
@




DT IRAT AT F7T (Pa=7) [EFT=ARE]

[15#kE 2 T ZAB]

H4E~A%@ J—7 K

WA 20164 1H 1780 (A)

R 0 9 : 00~13 : 00

B EFREART=Aa— b

© ® ® @
e o bbb E<bZ SRR B E .
@k R | I ORT | I M AL
TFE e oX
U1 gk 4-1 4-1 1
Horbh E<BZ
o | s opr | 174 2-4 3
@ | Wi 1-4 4-2 2
®
®
®

A IE
1-2
2-3
1-3




126 h—F AU (12 26LR TE)

47— LK /—TR

3 o

M=

B2

S5 EH

A2

N
\ /‘|j

4

B1




SHRLRER—F AUK
47 —LKER /—7F

1L
i
R
L

IS S o I

126 b—F AR3GL 126 b—F A R34L



SHL4Bb—F Ak

47— LFER /—TF

I
H

7

A3

i ]

3l
i

A4

=l

N —

A\

LR =3

B3




by ATF=AY 5T (PazT) [&FEF=2ka]  [BHkFEZ T RXA]

Y —2R— )L 0 WiH 201641 H 17H (H)
BFfE : 9 : 00~13: 00
N “ A WENRT = A a—
HE)&_A%H& PR Z B EFRAAET=AT—
® ® ® @ ® ® @ = AIE
ot A Dm» HEIX o7 EELPINEAH mEH VOARL
" . JEAT 1-2
INERTIIE | BKEE REIR | WEPR B —BR | NpE K& 3-4
S AR On 1'3
) INEIE TR 5-2 1'5 2'5 3 2-4
. 2-3
® FREE ERIK 2_5 4_5 1_5 4 1-4
EEHPINEAD
@ | WER HE —ER 5_1 5_4 4_5 2
nEH  VAKRL
@ TEE K5 5'2 5'1 5'4 ]_
®
®




DT IRAT AT F7T (Pa=7) [EFT=ARE]

[

kA7 T AB]

T —rhR—

H 5 —2Litl /=7 K

WA 20164 1H 1780 (A)

R 0 9 : 00~13 : 00

B EFREART=Aa— b

® @ ®
FFE TELE D b mes Lo 5
ok vEE | I SR | g w3 MEfsz
FPE B
U gk 5-2 5-2 1
o | wwww | 275 5-3 2
/Y] L &
o | mE=g | 270 3-5 3
@
®
®

B NIE
1-2
2-3
1-3




kA
TR 2 b —F A (1L 260RTE)

54 —L%ER /—TFK

A2z

0

H worms

Al

A=
N
vz

B2

& | Bk

A2

B o 5

B1




kA
SHLRER—FAE

57 —L%XE /—TF

¥

s
w7,
77

s s |

7

TN
)
A

E
= | g

126 b—F AR3GL 126 b—F A R34L



hikE
SfL4fib—F Ab

54 —L5EHE /—TF

o~ o

7N

==

)7

1t
K it
JiE g
53 ]
IK IS5




DT IRAT AT F7T (Pa=7) [EFT=ARE]

[ 7 S5 2A]

|67 —ssem /=7 ¥

WA 20164 1H 1780 (A)

R 0 9 : 00~13 : 00

B EFREART=Aa— b

mA B

® ® ® -
EoBh D HR bhrix fE oL rEdIC )
W R | WE R | A B M
EFOoBN VIR
N 6-0 6-4 1
bEX P
s —m | 06 3-6 3
Fobe EEUC
4-6 6-3 2

B NIE
1-2
2-3
1-3




I RATF=Ar 57 (VazT) (&EF=2k2)] [ EkRFEZFAB]

0 A 201641 H 17H (H)

FEfE] : 9: 00~13: 00
(w71 .

B ETERALET =X a— |

D ® ® @ ® © @ A
OHIFERL  7Zun b x9< 7=RFE D xHTU) N 1_2
TH O KE | 4T £ | BE B4 I o3
OSIERL Z0p 1'3
) AR K 5'6 6'0 2
e &<
@ LF & 6'5 6'5 ]_
=hE D xHTU)
o | mm ww| 06 5-6 3
®
®
®




126 h—F AU (12 26LR TE)

67 —LFER /—TF

\iz

==t
>

H ez

6 3

A

|

5 I

] # A
e R

th 3

H

AN

Al B2 A2




SHRLRER—F AUK

67 —LEHR /—7F

- i
AR A
K i
3 Zak

126 b—F AR3GL 126 b—F A R34L



SHI6HRLRER—F Ak

67 —LFKR /—Tk

FE—T ML FRE)—J 34



